Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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1 Show that (1+cos0+1sin0)" +(1+cosB —isinB)" =2"" cos 5 cos 7 ) (07 Marks)
Express 1-i+/3 in polar,‘;fw’(")rr'n and hence find its modulus and amplitude. (06 Marks)
Express 1 : in the form a + ib and also find its conjugate. (07 Marks)

1-cos 0 +isin 0

Define dot product between two vectors /A and B. Find the sine of the angle between the

vectors A =2i=2j+k and B=1-2j+2k. (07 Marks)
If A—-l—2_]+3k B——1+2_]+k andC 31+_] ﬁndthevalueofp such that A —pB is
perpendlcular to C. (06 Marks)
Find a-(bx¢), bx(ax3) and é«-(é’xl-)) where E:T;f-‘%’wf” <y 6=3i—]—k.

) : 4 (07 Marks)

Obtain the Maclaurin’s $eries expansion of log(see x) upto the terms.containing x°.(07 Marks)

3 3 "‘\(m« - s
If u=tan"| > | then using Euler’s theorem, prove that-x QE + ygE =sin2u.

‘ (06 Marks)
Ifu=f(x-y,y-zz-X), prove that i + i) + L A e (07 Marks)
Obtam the Maclaurin’s series expansmn of thc function +/1+sin2x upto x* (07 Marks)

o B e Bu L
[fu=e™", prove that:x r + yg =3u lo"gu usmg Euler’s theorem. (06 Marks)
Ifu= E, A =‘§, W= Xy then show that M—)— = (07 Marks)
% Nt z { 0(X,Y,2)

rve x = 3t} y= t* — 4t, z = 3t + 4 where t is the time variable.
f velocity and acceleration vectors at t = 2 in the direction

A particle moves along a
Determine the componen

1—21+2k = (07 Marks)
Find the unit normal véctor to the surface xy’z* = 4 at the point (=1, -1, 2). (06 Marks)
Show that the vector field F =(2x+ yz)1 +(4y+ zx) j—(6z— xy)k is irrotational. Also find ¢
such that F = V. (07 Marks)
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a. Find divE and Curl F, where F=V(x’ +y’ +2° -3 »%“ _ (07 Marks)
b, If F=(3x’y—2)i+(xz* +y*)j—2x’2’k then find/ %F% VxF and V- (VxF) at (2,1, 0).

% s (06 Marks)
C. Determine the constant ‘a’ such that the%veé‘for (2x+3y)1+(ay 3a)g+(6x 122)k is
Solenoidal. « "A‘« " (07 Marks)

g
Y

a. (07 Marks)
b. (06 Marks)
C. (07 Marks)
a. (07 Marks)
b. Evalg\%ﬁwl ﬁiz 2ax —x”dx o, (06 Marks)
. 0
1 z x+z
c. Evaluate II I(x +y+ z)dydxdzy (07 Marks)
-10 x-z
a. (07 Marks)
b. Solve gl— ytan 7%*”*3/ secX. (06 Marks)
X ke
c. Solve 3x(x + y )dy +(x* =3xy—2y)dx =0 (07 Marks)
é% A%
a. Solve.: dx ¥ycotx =sinXx ’ (07 Marks)
b. 501»% (x+3y— 4)dx + (Si% Y _2)dy=0 . (06 Marks)
" @ y w ke
T’ (07 Marks)

2 of2




